=
1
Xt
N

AR B AT B U T RS AT 3 T 58 B o R AR BT LI %55 5SS S A B i H AR i A
23 ) B B S By o 58 AR BREE 1 AR A AR I I A A @ﬁ?UTE’% Loy RO R 2%
5 268 R T 5 oy L K Dol o i — BT SRR o A E i

1. ERR2BERERS

A& FT TGN T I 17 15 7 7 e AT BR 2 A Y R A

CEERFE T A = BB AL E S N R E RS
#) N\ R ¥ 7,050,00000 (4% 146,911, 705{%75 &%A&ﬁ%%ssoooo;c( %) 5
it 62,431,373 I ) 11 45 K 1 60 5 % B K o JME 17 S A< 45 13 1 SR
ZUE PR ALY 25 A B R R B R BﬁA{ETﬁ&ZIKE@ﬁﬁﬂ«é&ﬁtﬁA{Efﬁ%mfﬁﬁff
& Bh 1Y BE A7 P o

B Z0E 4 0 B AR S ) R AT 40 67.14% I #)32.86%ME £ < I 1 4y
AN F — R R S R EE R e R AL > BORPE i A A
JB A A N F R BN £ o

F 7 T8 B SO R b T R R A R R A T ) R 2L R
W BAES & B (TEE2E ) 1) o MR35 b7 B3 HISE 14A.65(4) 0> B B 2 N 1 4% — i
(2 A4 T BT 84T NMY) 2 e sk b AT 4R 4 B i b T g
T N & EEVEAT B 1 1) B 5 B > mT R S R A S ST SR 1Y
FRE o VN T T — A% (sl BN AG T T B AT A Y) T A 1) A 4 ] R A1
B 3K LI 519 A 42 [ 1 A R K0 JR A > ORI b T R AR 14A65(4) 15
T 18 52 &) W1 8 G0 08 ST B R~ 2 A B 8 S e SR At Y 1 R A o

2. ABITHRBRAMGRAENFRBREFTERERS
JEAT _E 1 22205 57 b 7 it A7 FR 2 7] 19 8 6 1 <

:iiﬂlﬁlﬂlﬂ‘ﬂ*—ﬁ AR T B b EANET oL 8 B A BRI R (T 8K
AR | ) > AN I 22 A SR AN A 4R T ir 9 JEB ) S 1) 89 45 A AR

- 106 -



t

BEXS

b

bl B AR R H R B G T AW L H ke Bl EART R P
& f 4y 2 AQOBE SE 05 > M Il 0 1) G A 4y 6 % e i 40 AQBE A S o

g RN A R BT W\ A R BB e M — S B =
A %188.89% M 11.11%ME £ o B Ak B e A2 25 AR 2N W) 2 W & 28 =) 1 38 55 > il
MR 48 b T AR R B R A ml A B N e B EARTI BRI AR BB A K
DR A A ) BN 1 o (R U > AN 42 [ B 9 22N 1) 58 ) B s A 4 D I R
Ly o

TERBNAENA T H AL E B NG L L ek B[R] A
b B A QR b o [ o A 4R I L 1 9l SR RT SZME 2R B e > AR F R AT
BN Y S S A AW B B AR R T AR
H=1t—H1k (I ERLS]) MREERLS AL R FH L EREALE
A B F 3 RN A TH AR E W SETH o 2 AR T i W S 2 B E ) B R
2 SCASH AT TR A4 AP 4 o e B A A1 S A5 A0 I 98 SRS AR R AR AN TR ) 6 TH
Jir B W) 2E A 1% o

T A5 AR A B H T - A 42 I 1) b 0 RN SO 8 B B o A 2 N R
Foo NRWEE 6 AR H14,400,00070 (%9558 14,117,6474 8) K N R ¥
5,000,0007C (#7574 4,901,9614 7T) - & H A5l 82 —FFNFE+H =1
— H 1k = B B BE A AR ) B RN SO R AR B S AR R Il
A K %10,000,0007C (%75 29,803,922 70) ~ A K %#20,000,0007C (4 45 i
19,607,843 y6.) M A R %25,000,0007T (4] % it 24,509,804 7 J0) © b #liffli 5+ B
AR R A Y B B N 6 B S SE TR OR Y TR B A A [ AE A B A R T B
IESNE7/ES - QENR (SN

T H IR RS 1% &4 & T B & B i S e BT R g

VBRI T ZAE N A N B AR S 5] o 2 AE 8 I & B IR ET
T MR P AR AR ] T A N AR e T A L AR B W S TE D G R R M TE T E

- 107 -



t

BEXS

b

MR A 45 B A 7 b0 2N A 48 8 B 6 b BRI A BRAG W S A 4 iR
BE_EEXAF T A=+ —HIEFENER G &2 _FF/FE+ 0=
T Bk SR EUE A AR B R R AR 14,07 B I BN AE S 1Y i AR L
RN 550.86% ~ 1.71%1%2.14% o MR35 b i BB 14A.3405%  ERALY) @ik
AN T Y HF A B AE G > WU A SRR R M B o E T R e 7 ST T IO
it R A

ABETHHR MAKRKRRMERENHABRBTEABRERS

[ L 787 7R 5 A 2 P B AR 2 AL i A $R

TS A B S T > R O ol A R R R R ) 3 T T ) A A [ AL
T L H AR B 2 2 IR s o

RIS TR B BT > B T S A Y IR R B AT 909 i 19 2% ] 2 [H] 4 B B 2
Al RAFEHFERBRESLE AR FREAN L ERAERKD ERE
O B B8N o R B 2 RO Fh T S A A ok SR T T R A T TR R ROR
7 B ) 30% K L E A B HE BORR S £ e AR B N R BT AR
A A ) BEL 7R B 1A 52 5 B R O FL B T AE )

A LN A ZH s A ] SRR B RS AE 28 Wk > A 4 B () B
b H R A RN+ T = H ] R IR ) RS 1 R S
) DL A A 3t 8 P T b PRI RS ([ AR A2 5 1) o T 2k B35 i SR AR
J T 47 {3 1) A0 T B A0 AP 920 Ja — M T S A R AN TR TR B S5 = 5 P S ik -

A A5 AT BH T A 4 1 AT AR S 00 BRI R 43 T 2 2 N R 616,683,000
JG (%)% it 16,355,882 o0) ~ A R #35,944,0000C (4 %5 it 35,239,216 7T ) »
A\ L #34,498,0000C (4% 4 31,860,784 70) & A K #17,100,0000C ()% 1t
16,764,706%E 7)) © 5% % it 1 BUHE 4 A 4R B G BRI ] ) R S S AN PR O
177 A 5 15 2 A B Bk — o o R A B R 35(b) T 4 5% A B AR S 0 A B T 1
1) R 58 R A > BRI ) B 5K A8 A A R A 2 IRs A A T e R 1% A 5 ROAR o BE AN T
WEET)NE T ZH = — Bk AR BB A RE A T RS
A AF IR B RE R 2 &9 By N B W 44,345,0000T (#7955 ik 43,475,490% o0) ~ AR

- 108 -



t

BEXS

b

¥ 26,770,0007C (&) %5 1% 26,245,098 &) & A K #32,020,0007C ( £ % i
31,392,157 J0) o % il 5t 35 25 AR 95 A 42 13 0 48 1 PR I OhE - S T I
TR MY ZEBH > DL AR E A B A SR Y EEE mAES-

HRPE A B2 B E AT T 2% B 24 SR A L SR 1 A BRAG BT AR B 2%
HE+ A=+t B8 G 85 - FEZ/E+ A=+—H 1L ={F 8
W AF B 45 4R 3 B RSB 14.07 e 51 0 7% 5 22 5 MM 25 EL R4 Tl 4 5 3.79%
2.29% K 2.74% - ¥ ¥E b T R 55 14 A.3506 > 7% 55 58 5 J8 i AN 2 w1 10 1 4 B 2
S G o B JE S ST R B N KR A > {EL R A R G R S S S TR v B E o

BMXF#R

SEM A PR AR A SR I AR BB AT [ IR SR e BB S 5 | A5 BT ALY 52 ) - AR
A5 b TR R > i A B S BT B T AR > 5% 5 S B I A AR A RN R AR B T A S e

B (RSB IR AT EE ) RRRE bl R AR B L ) ) RE MO A HOE b — B
B AT N — R SERFOETT B L RO B 5 B AN AR 0 E RO A
Ao AR BT R R 2R 14,0716 5 A AR L 28 (a) MR B T R 26 14 A 34405 s BN Y 6
TP FE S A A B PR KK » IR S R 8 M R > (R T R O T S R ST B RHLTE Y RE
1M (b) A% 55 58 5y J& 1 I 8 e A 268 R 0l 52 o > ZHUIBL S b T B0 265 T4 A8 1) 3R~ M % 08 o7
e TR B AE

AR 2% R B 1) B A2 P F R O A R ST b T R B 14A.42(3) Mk - T I 52 i E [R] A
WEAS 2 Rt BN AL 5 M AR J55 58 oy 4% SEUBL 7 s S (A Y ) 98 S Jie SO v ey B 7

- 109 -



=
1
Xt
N

REAER

PR Ry Lo i 4 B 58 5 AR 1 ) BRI bt R A B A 5 T R —
i P SRR AE A S B I B — e S5 TR B AT > T A BR 2 58 o O R e b s R
AR A = F Ok = A AR Y A B AR(E b RS A0 RO A
BEALRS

W L SCRT 45 R Y R 2 58 5 A1 > AR SR BE AT B D (] R AT TR N 52 5 A7 Bl R
7 O ARG e A B Bk — [ B2 N 58 5y | — i e

- 110 -



